()  Printed Pages: 11 Roll No.

iiiiiiiiiiiiiiiiiiiiiiiiiii

() Questions :9 Sub.Code: |2 |5|13|6]|3
Exam. Code: 0(3|10]9

Master of Arts (Economics) 3™ Semester
(2124)

Opt. (v) ECONOMETRICS-I (In all Mediums)
Paper : MAECO - 303 & 304

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt five questions in all, including Question No. 1
which is compulsory and selecting one question from

each Unit.

1. Answer any ten of the following in about 25-30 words each :
G  Difference between panel and pooled data.
G) Which is better, OLS or MLE ? Why ?

(i) An increase in the number of explanatory variables in a

multiple regression model will necessarily increase adjusted

R2. Comment.

(iv) Why normality assumption 1is required in regression

analysis ?

(v)  The relationship between t test & F-test.

[Turn over

25363/PD-12507(T) 1



(vi) True/False:

(a) Inthe presence of heteroscedasticity and autocorrelation

OLS estimates are not BLUE.

(b) For applying Durbin Watson test it is necessary to

consider a constant term in the regression.

(vi) In data involving economic time series such as unemployment,
money supply, interest rate, or consumption expenditure,
multicollinearity is usually expected. Why ?

(vili) Why a likelihood function is to be maximized and not to be
a0

(iX) Difference between standardized and unstandardized

coefficient available in regression output in SPSS.
(x) When is a model called encompassing model ?

(xi) Why do measurement errors in independent variables
occur ?7

(xi) Unique features of EViews.

(xiii) Are the following linear regression models ? Explain.
@ Y,=a+p X +y

®) Yi=aXPe"

(xiv) Explain the use of coefficient of multiple determinant in any
regression model estimation.
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(xv) Interpret:

—
In M, = -5.5443 + 0.8105 In GDP, - 0.011311 In P

+0.6178 In M|
R? = 0.989, Durbin Watson, d = 1.8125

Where, M, = aggregate imports in units of domestic currency
at constant prices.

GDP, = Gross Domestic Product at constant prices.

P = an index of relative price of imports expressed 1n
domestic currency. 10x2

UNIT-I

Explain the assumptions of OLS regression. Also explain the

consequences if these assumptions fail. 15

State and prove Gauss Markov Theorem for multiple regression
model.

2+13
UNIT-II

What are the practical consequences of multicollineraity 7 How
can we detect the problem of multicollinearity ?

10
Write notes on :
(@) Methods to detect heteroscedasticity.
(b) Remedial measures of autocorrelation. 7.5+7.5

UNIT-I1I

What is correct specification of model ? Discuss various tests of

specification and mis-specification. 3+12
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What is error of measurement in dependent and independent
variables ? Discuss remedial measures of error of

measurement. 5+10
UNIT-1V

The following output tables are given :
(a) source | S5 df MS Number of obs = 74
PR AN F(2, 71) = 14.74
Model | 186321280 2 93160639.9 Prob > F =  9.00e0
Residual 448744116 71 6329339 67 R-squared = 0.2934
[ 1, s % AdS g-squarfﬂ = 8.2735
Total | 635065396 73 8699525.97 Koot MSE = 2514
price coef Std. t Pr|t] [95% Conf Interval};
mpg -49.51222 86.155684 -3.57 8.567 -721.3025 122.278
weight | 1.746559 .6413538 2.72 ©.e08 .467736  1.825382
_cons | 1946.069  3597.05 6.54 0.59¢  -5226.245  9118.382

(b)| Breusch-Pagan / Cook-Weisberg test for hetemskedasticityi
Ho: Constant varijange t
variables: fitted values of price |

i

chi2(1) A 14.78
Prob > chiz = @.82e1 |

15
Discuss stepwise procedure to estimate the following using
SPSS :

(a) amultivariate regression model.

(b) procedure of testing and redressing the problem of
multicollinearity.

(c) transform the variables in logarithmic form. 5+5+5
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(=t o)
Az - giﬁﬁ; mgw ‘ﬁm Pmirm den 1 o e
@ﬁm,- g aur YAF gAe N A T gw w1 owe
1. Ffia 4 ¥ B wm uwl & sax e 25-30 g
q afw
@ W qw @ BB o 3er & A" saw)
(i) M sBaX 8, OLS a MLE ? @ ?
@) g gfommA wWisw A wgrerwd W A genm H giE |
gamiva R? A afvadd =9 ¥ afg enft feool sifsg
(v) dfmme fowquw § g gmen w®l HewEE o
(v) tUdewr G F-udlgu & 9§59
(vi) TU/IET

(a) Taomar aor wHedsd @ SuRald # OLS AT
BLUE &l B |
(b) SR aET wdem @y F1 @ g gwe H
o 9§ T faER FAT EWE 8 |
(vil) SmTE, ga S, s X @ I @ S
e 8 g3 ST H, sgdidhan amdR W SRIE

gl B w7
(viil) el FemmaT T Fr afeas S R S @k s
Aqe F el 7
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() SPSS 3 YR sMeeye § IueE ARG I AR
TiE & A 3

®) R Aea # wE Hied @9 el A€ 8 ¢

(i) Tax W H AW FRw @ e g 7

(xii) EViews @ 8l fa@iommd |

(i) T Prfifea s wRome wisa § 7 @m@n ]|

@ Y;=a++B X +uy,

b) Y=o XP e

Gaiv) fRlt ot ofme Afsa ogwe W sy Bele @ Qe
& I d e 1|

1ﬁ1: -5.5443 + 0.8105 In GDP, — 0.011311 In P,
+0.6178 In M, |

R? = 0.989, sfd= afeqw, d = 1.8125

wgl, M, = R i 9 uiq e W gl A
ST |

GDP, = RoX Il WX el Ul ITE |

P =X Gul H HE AW D HOE e FOGIADT |
10x2
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-1
2 OLS YRR @ HradRl @ SR &Y | g1 AradRl @ fawd

2 W B A aReml @R e w1 5
3. wedw SR dtea & R e T i w9 R
F | 2413
eI
4. Wﬁ%mﬁﬁmw%?mﬁm
H UG B DY oM HEd & ! 5110

Sﬁﬁﬁﬁﬂwﬁﬁ%ﬁ
(a)%awaﬁqmwﬁ‘%aﬁ%l

(b) TWEeHsd & ITACHD ST | 7 5+7.5
giFe—1II
6. Hisd ?ﬂﬂiﬁﬁﬁ%ﬂ?m%?ﬁﬁ%mﬂﬁimﬁﬁr}m
3 RE TQee W owE HwT 3+12
7. mﬁﬁﬁ?@ﬁﬂﬁﬁmaﬁﬁw%?maﬂﬁﬁ:
& IUATUCHSD IqE R Tl FR | 5+10
HJEE-‘IV
g Prefufed smseye diered W = 8
Sourc eg AR dF LA S Number of obs = 74
(a) ,:ifira-mu—#-m-—-ﬂ-«u_;——tggmmr_ﬁ-—-_ﬂ F{Z, "71‘. = 14.?‘:
Wodel | 186321280 #5 03160633.9  Prob > . 0.0000
Residual 443?44116 hr 71 6329339 67 R-squared = .'0.2934
i s AR T .......f';ld:.'_:...A e ﬂdj R-Squar‘ed - 0.2735
" Yotsl 535955395 '"-'*'a-?s asaaszs 97  Root MSE - 2514
p::i?::el Coef Std Er-r* otk Prllt] [Eifccﬂrnc 1ntena1]
: mp—?"_-;; 5122_2_ 86, 155.34."' Ja.57 e@.567  -221.3025  122.278
weight | 1.746559. 6413538 2,72 0.008 LA67736  3.025382

3 : b 18.382
eons | 1946.069 {3597,05 [ {0:5A 01590 ] §226.245 9118
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(b) sreusch- pagan ' Ccook- Heigberg test for h¢t:ro¢k¢dast1c1ty
Mg Ho:i Constant variance
Uarlablﬁa f1xt£d,values of price
?-. :

chiz2(1) . = 14 78
prob > chi2 = E fAeal

15
9 SPSS W AN FXH PreARi # ATHA @ F R

@) T FghFEd gk A |

@)a@%@mﬁwwqﬂwsﬂ?ﬁ'ﬂmwﬁaﬁ
gishdT |

©) =T F agEUHT T F wERa w1 5+5+5
(IATeT nigee)

&< :— % UA YAs &4, % 3t uEs 4. 1 A fa st I mi3
Ta giee &5 ¥ yms & 9T 9|

1. S5 fifanr fo5° fan < @R o €39 o= 25-30 "Eel f<v
fe& :

G Uam w3 yos 3T fegaad ni3q|
(i) feozr fagss 3, OLS & MLE ? faf ?

(i) ffg Hedu® fgoens Wss fog fonrfimmsna <OIEeS
&t foredt &9 T wgdt 39 °3 feenfus R? § <UET
foust aJ|

(v) foodms femdme % Augss uge & &z &€ J 7
(v) t-2Ae n3 F-2re fesd meu|
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(vi) AIIAB3

(@) Heteroscedasticity »3 autocorrelation €t et &g
OLS »aws 38 &dt a51

(b) sSfas TeRs 2He & o a9s ®E foadms fim
fEa fadzg uz '3 fegg zax HIST I

(Vi) »isfas 7Y & &5 § AHE S9s T 3o i Y fa
AT, HEST T AUSTEL, foore w9, 7 HuS uaY, nid
39 'T HeEIGeafadt & @ifle Tt At 31 =’ 9

(vii)) i€ Hs=sT €8s & JU T Tu faf =iz Aer gdter 9
w3 ue 3 e &I 3T A e J

(iX) SPSS &5 faaoms wBede 9 Buman Wadlifgs »i3
Ag-frat arEt f*T i3

x) far w=s 3 fesauiia ves ae faor Afer I 2

i) TS SEREE T WU O s X8 S 95 0

(xii) Eviews €t fe8uz ferms=r|

(xii) o 957 £ FEe foaems vEs I 7 AHE

(a) Yi=a+JﬁXi+ui
) Y. =a X’ e

xiv) faR & foorgms s nigns 9 wedhus faguga ©
JEF o 93 o fenrfamr ad|
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(xv) fenrfimr &9 -

—_
In M, = -5.5443 + 0.8105 In GDP, — 0.011311 In P
+0.6178 In M|

R2 = (0.989, 3afgs Ters, d = 1.8125
ﬁﬁ,Mt=Hﬁ3M’§@§WWWﬁ€
B M3 |

GDP, = Rfag &H3T '3 I udg 83Ul

Pl=w%§m%€m@a@mﬁn@nﬁaﬁ%8
T HIAA | 10x2
gfee-1

2 OLS foadms ot ugeet @ fenrfinr 391 A9 fET
WWW%?aﬁmﬁé}Wéaﬁl

15
3 wsdlus fooaEs HEE e dF Hoae fa@en § mee w3
AE3 &d | 2+13
gfee-II
4 W%W?ﬁlﬁﬁm?mﬁaﬁ%ﬁé
i T Uzt ofAr g I Ase I 7 5+10
5. fonsfeuz '3 ac fod
@) feudzzr & u3T AT ¥ A
(b) me-Hgg € Quusa Gumil 7.5+7.5
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6.

gfee-111
WSS ©F At fsgues of o 7 fasuds w3 aw3-fenmsT €

FY-3Y SR '3 TI9T a3 3+12
fsgsg »3 A339 I9Es e Wy o gt ot 3 7 WU ©
w3t @ Quugw Buet & g9ur S| 5+10

gfee-1v
forsfeus wB@ade 2as €3 9T I8

(a) source | S df M5 humber of obs = 74
e e ——em— (2, 1) = 14.74

186321282 7 93180639.9 Prob > F =  9.0020

Residual 448744116 71 6328339.67 R-sgquared - 0,293

i [ - Ad) R-squared = 0.2735
Total | 635865396 73 B689515.97 Root Mst z 2514

price Coef. Std. Err. t Pt [95% Conf. Interval]

e £ ——————n - S S — — - . —

mpg | -49.51222 86.15624 -8.57 0.567 -221.3025 122.278
weight | 1.746559 6413538 2.72 e.ec8 LA67736  2.025382
cons | 1546.869  3597.€5 @.54 @.599  -5226.245  9118.382

(b) greusch-Pagan f Cook-hWeisberg test for heteroskedasticity
Ho: Constant variance
variables: Titted values of price

chi2(1) - 14.78
Prob » chiz = a8.6031

15
SPSS@@?W&%W@WW@E@W
yfafanr '3 939" &9
(a) f¥a HEdedide foagns HES|

(b) N EASEERTST o Wi € w3 faeee <t yfafonr
(©) THeus § swIed gu 9 =TS 5+5+5
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